(177)

G =

(FER294108308)

(1) [RAK (3) K2 4K 55 (9FF)

(BA R EEEREN) 'L T.P. -0.32 m
X I : Eh (o8F) [HETH: T.P. -0.33 m
a2 B 15.0 °C (9B [&B #i: -1.19m & 580 m3/s)
r R 53 mm (FIE) Xgﬁgﬁgzﬁﬁgfi&ﬁ%ﬁgarRﬂz%m

XEREMN KT 101 . BFREALZWLA -]

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

A # 9.3
# UEFRKLED AOE | EAE| e |EDRZRIERAZE
538 1485309 T.P. 0.87m
- T.P. - tRE mg/| 3 5
B4R
Fi# 685304 T.P.  -0.18m (iﬁjﬂt;)w g mg/| 3 3
208305 T.P.  -0.11m TE mg/| 3 7
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. Tkm
KBKE | °C 14.9| 153 14.8 150/ 154 158/ 152  13.5
EEKE | c| - — 14.9] 15,00 15.4 15,6 152 —

b H — 7.3 7.1 7.1 7.1 7.1 7.2 — —~
%BDO |mg/l 9.6 9.2 9.4 9.1 8.3 8.6 8.1 10.2
EEDO |mg/l — - 9.4 8.5 8.2 8.6 8.1 —

cop |mg/l 5.0 3.9 — —~ 5.1 — — -

BE | E 50.7|  78.7 64 76 52 Y -
BRITERE [uS/om 42 45 — — — — — —
RREDRE ng/||  — — 2 2 3 40 60| ND
BEREARE Ing/|| — — 2 2 2| ND 160 —
w=Ex  |mg/| 0.69| 1.06] — 0.90| 1.14| 108 - —~
@y |mg/l 0.06/ o0.10] -— 0.15/  0.15|  0.19] — —~
yanznalug/l 7.1 5.5 13.6]  17.9 9. 1 12.9 5.6 7.9
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

O~05 =£H




(2/7)

G =

(FER29410831H)

() |JRRR (3) KA 4K 35 (9B)

(BRI - EEEFERN) EEGR T.P. 1.02 m
X & : Bh (9F) [T : T.P. -0.53 m
[ om 12.8 °C (o) |8 - -1.9%5m (8 290 m3/s)
B —mm &E) XERETHYBRIETT,

XEREMN KT 101 . BFREALZWLA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

= 10.3
# UEFRKLED AOE | EAE| e |EDRZRIERAZE
gl 285104  T.P. 0.52m
1485505 T.P. 0. 41m tRE mg/| 2 57
B4R
Fi# 98204 T.P.  -0.33m (if“fg“” g mg/| 3 63
2185505 T.P.  -0.38m TE mg/| 3 77
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
KBKE | °C 13.6] 140/  13.8] 142 141 4.3 14.6] 130
EEKE | c| - — 13.8  14.3] 140 143 146 -

b H — 7.3 7.1 7.2 7.2 7.2 A — —
%BDO |mg/l 9.5 9.2 9.6 9.4 8.8 9.6 8.3 10.6
EEDO |mg/l — - 9.5 9.0 8.8 9.4 8.4 —

cop |mg/l 1.6 12| - — 3.2 — — —~

BE | E 7.00 330 8 18 30 36| — -
BRITERE [uS/om 67 68 — — — — — —
RREDRE ng/||  — — 3 3 2 200) 1,220 ND
BEREARE Ing/|| — — 2 2 2 300 1,500 —
w=Ex  |mg/| 0.65| 1.04 — 0.68) 0.96| 1.01] - —~
@y |mg/l 0.02| o.04 — 0.05| 005 007 - —~
yanznalug/l 2.3 2.0 3.5 5.7 6.4 9.7 3.0 5.3
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(3/7)

W

(FEp29%F11A18)

(D [RIRR (3) IK Gz 1R 352 (9FF)
(BRI A - BEERTHRR) EE#: TP 1.10m
x & Bn (o) |HEF#H: TP -0.49m
5 i 12.6 °C (o) B 55
— e arm | XEEETHYEBECT,

XEREMN KT 101 . BFREALZWLA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

A # 1.3
#M GETFAKLED AnE R R | ST
538 285504  T.P. 0.52m
1585505  T.P. 0. 84m tRE mg/| 4 600
B4R
Fi# 98304 T.P.  -0.56m (if“jg%” g mg/| al 2,700
2185505 T.P.  -0.50m & mg/| 5 3,500
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 bRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. bkm 8. Tkm
KBKE | °C 13.4 140 13.6]  13.4] 141 14.2] 148 130
EEKE | c| - — 137 13.5|  13.9] 15,9  14.8] —

b H — 7.3 7.1 7.2 7.2 7.2 R —~
%BDO |mg/l 9.6 9. 1 9.7 9.5 8.8 9.3 8.4 105
EEDO |mg/I| — - 9.6 9.2 8.7 7.8 7.6 -

cop |mg/l 1.8 N —~ 2.4 - — —~

BE | E 2.6 306 5 7 16 12 - -
BRITERE [uS/om 12 79 — — — — — —
RREDRE ng/||  — - 4 4 3| 1,400] 3,200 ND
BEREARE Ing/|| — — 3 4 2| 4,340 8800 —
w=Ex  |mg/| 0.75|  1.09] — 0.70, 0.90| 0.95 — —~
@y |mg/l 0.02| o004 — 0.04/ 004 0.06 — —~
yanznalug/l 1.6 1.7 2.3 3.2 3.8 3.8 1.3 4.7
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(4.7)

W

(FEp29511A28)

() [RRKR (3) ZKfir 1R 358 (9B:F)

(B R - EEHERERN) EER: T.P. 1.24 m
x & 0 (oB) [ETFH: TP -0.35m
s 8 12.8°C (o) |®m #: -248m (4 150 m3/s) 3
BEEY - mm mE) | RS e KitH AT, P.+12. 56

XEREMN KT 101 . BFREALZWLA -]

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

B ® 12.3
# UEFRKLED AOE | EAE| e |EDRZRIERAZE
2538 485305 T.P. 0. 74m
168204 T.P. 1.07m tE | me/l 5 910
B
Fi# 108104 T.P.  -0.56m (if“fg“” hE | me/l 5| 2,400
2285404 T.P.  —0.66m TE | me/l 6| 11,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 _F iRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIKAE | FEAE |BZRAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. Tkm
REKE | C 140 147 142 137 138 142 150  13.0
EEkE | c| - - 14.3 137 137 158 150 -
pH | — 7.2 7.2 7.1 7.1 7.2 7.3 — -
£BDO |mg/l 9.3 9.4 9.6 9. 1 0 9.4 8.5  10.5
EEBDO |mg/l - - 9.5 9.0 8.9 7.4 1.7 —
coD |mg/l 1.7 11 - - 2.0 — - -
BE | E 1.6 5.2 3 4 5 of - -
BRITERE [uS/om 81 93 — — — — — —
REEARE Ing/1|  — — 3 5 4 980| 3,160 ND
BEREARE Ing/|| — — 3 4 3| 4720 8160 ~—
wEx |ng/l 1,03  1.08] — 0.76| o0.88] 097 -— -
@)y |mg/l 0.03] 003 — 0.04f 0.03] o005 -— -
ponTsLa|ug/l 1.4 1.7 1.2 2.4 2.5 2.8 1.1 3.8
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(6.77)

W

(FEp29%11A38)

() [RRKR (3) ZKfir 1R 358 (9B:F)

(B R - EEHERERN) EER: T.P. 1.31 m
x & 0 (oB) [ETFH: TP -0.11m
s 8 14.1°C (o) |®m #: -264m (4 120 m3/s) 3
BEEY - mm mE) | RS e KitH AT, P.+12. 56

XEREMNM KT 101 . BREALZWLA -]

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

B ® 13.3
# UEFRKLED AOE | EAE| e |EDRIRERAZE
2538 485305 T.P. 0.99m
178004  T.P. 1.29m tE | me/l 6| 1,200
B
Fi# 108504 T.P.  -0.64m (if“fg%” hE | me/l 6| 3,500
238204 T.P.  -0.79m TE | me/l 7| 8,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 _F iRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIAE | FEAE |BZEAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. Tkm
REKE | C 14.6|  15.1 14.5|  14.4|  14.0]  14.8)  16.0]  12.9
EEkE | c| - - 14.6| 14.4 138 148 159 —
pH | — 7.2 7.2 7.1 7.2 7.1 7.3 — -
£BDO |mg/l 8.9 9.4 9.6 9. 1 8 9. 1 8. 1 10.2
EEBDO |mg/l - - 9.5 9.1 8.7 8.7 7.1 —
coD |mg/l 1.8 12 - - 2.0 — - -
BE | E 1.6 6.4 4 4 5 8| - -
BRITERE [uS/om 92 93 — — — — — —
REEARE Ing/1|  — — 4 5 4| 1,4200 5000 ND
BEREARE Ing/|| — — 4 4 3| 1,700 8060 —
wEx g/l 0.83)  1.10] - 0.74f  0.91] o0.96] -— -
@)y |mg/l 0.03| o0.04f — 0.04f 0.04] o004 — -
ponTsLa|ug/l 1.3 1.7 1.2 1.9 2.5 2.3 4.7 3.4
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




(6.77)

(FEp295%F11/848)

G =

(M RBKR (3) ZKLAK 5 (9BF)
(EHAHh s - IEEEENRN) B R T.P. 1.31 m
x B £Y (om) |ETFH: TP 0.21 m
5 & 16.6 °C (om) |m & 2.76m (8 110 m3/s) x
5 = = X ) : &E) XEBETHYBBIETT,
BRRE" mm i EBJII50. 2kmit /5 JKBEHE SABET. P +12. 56m
XIEMEA IR 101 . BRALVE -]
(2) AR (r8) (4) &7 EE (B {tviE) (9FF)
B & 14.3
. . e |ErmER|ETRER
i (B F kst AOE | BUAIGE ) B |5 nd50m | 5. 4kn-250m
sw . 5EE30% TP 1.22m
1785304 T.P. 1.34m tfE mg/| 6| 2 000
BB
F# - 118%30% T.P.  -0.65m (1511%@41 /g mg/| 71 4,100
NE
- T.P. - TIE mg/| 71 9,100
(5) KB KR (9FF) *AEDT—41E. FRETHYBRIETT,
N EFRA A 1B TRk 1B TRk BE) REN
BHE B " Sgxm | mRAE | 26iE | ERIIAR | FBAR |BEZEEAR| W @ | # &
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. 7km
=@BKE | °C 15.3 15.9 15.0 14.9 14.7 15. 1 15. 8 13.2
EEKE | °C — — 15.0 14.9 14.5 18. 4 15.9] —
o H — 7.2 7.2 7.1 7.2 7.2 72 - —
£EDO |mg/l 8.8 9.4 9.5 9.2 8.8 9.3 8.4 10.3
EEDO [mg/I|] — - 9.4 9.1 8.6 6.0 7.2 -
cCoD |mg/l 1.6 08 -— — 1.9 - — —
B B 1.0 5.8 3 4 4 5| — —
BRIEERE|uS/cn 91 93 — — — — — —
RREDRE ng/||  — - 4 5 5 920  4,540| ND
BEREARE Ing/|| — — 4 4 4| 9,740[ 10,000 —
wEx  |mg/l 1.00 1.03| - 0.74 0.92 0.95| -— —
w)o  |mg/l 0.05 0.04 — 0.04 0.03 0.05| -— —
panTsnalug/l 1.7 1.6 0.8 1.7 2.2 1.0 1.3 3.4
ND : T2 TFRIEXRE
(6) 7 — MREIRR (9B
D~ #—/nN—7O—




(7.7)

W

(Fr29%11A58)

() KRR (3) KA 4K 35 (9B)

(B R - EEHERERN) EER: T.P. 1.28 m
X & : Bh (oB) [IET®: T.P. 0.42 m
[ om : 13.3°C (o) |8 - -2.86m (# 100 m3/s)
B 0 mm &E) XORMIETH Y MMETT

XEREMNM KT 101 . BREALZWLA -]

FEJI50. 2kmith =

KELETERIZET. P +12. 56m

(2) FHrIRE (BT E)

(4) &5 iRE (B1EYM1UBE) (9FF)

B ® 15.3
# UEFRKLED AOE | EAE| e |EDRIRERAZE
2538 685005  T.P. 1.33m
1885104 T.P. 1.18m tE | me/l 7| 6,500
B R
Fi# 0B§20% T.P.  —1.00m (iﬁjﬂtg)w hE | me/l 7| 13,000
128305 T.P.  -0.73m TE | me/l 8| 14,000
(5) ZKERR (9FF) *ARDT—5I3. FERETHYBMIETT,
A= 1 _F iRk ETFRkE B AEN
BB | B[ xgxm | mRAE | REAE | BRIIAE | FEAE |BZEAAE| B & | # B
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. Tkm
REKE | C 14.0 145  14.2| 14.4] 144 150 153  12.8
EEkE | c| - - 14.3 145  14.4 19.8] 153 —
pH | — 7.3 7.3 7.2 7.3 7.2 7.3 — -
£BDO |mg/l 9.0 9.5 9.4 9.3 8 8.9 8.6/  10.2
EEBDO |mg/l - - 9.3 9.2 8.6 4.9 1.2 —
coD |mg/l 1.6 0.8 - - 2.2 — - -
BE | E 0.8 5.8 3 4 7 1l - -
BRITERE [uS/om 98 99 — — — — — —
REEARE Ing/1|  — — 4 5 5| 1,420 502 ND
BEREARE Ing/|| — — 4 5 4| 1502| 12,720 ~—
wEx |ng/l 0. 91 1.2 — 0.7711  0.97] o0.98 -— -
@)y |mg/l 0.04| o0.04f — 0.04f 0.05| o0.05| -— -
ponTsLa|ug/l 1.4 1.6 1.3 2.1 2.9 1.6 1.3 3.7
N D : EE FRIEXRH

(6) 7 — FEEIKIR (9F)

D~ #F—nN—7o—




